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The question paper is in the form of Question Booklet with 80 Objective type questions based on
the curriculum, carrying one mark each with four options indicated, out of which only one will be
unambiguously correct.
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Candidates have to select the right answer by darkening the corresponding bubble on the OMR answer
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As the OMR answer sheet is being machine scanned, utmost care should be taken while handling / bubbling
answers. No spare OMR sheet will be provided.

mag%w%&ﬁ&arﬁmwagﬂamagﬁﬁwmwmcmm)aﬁaﬁwmmaﬁz#ﬁ#
I T W] ot s afgel

Question Booklet Code (A/B/C/D/E) printed on the top right corner should be written in the space
provided in OMR Answer Sheet.

YeAE YR 1 3R # ¥, 3ok 7§ W e 3% AR ed 3o & AU 0.33 monenw 3w B u
T OF W HUF 3ol TTeld 3ead HAT ST

Al questions carry one mark each, zero mark for no answer and negative 0.33 mark for a wrong answer.
Multiple answers for a question will be treated as a wrong answer.
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Calculators, mobile phones, smart watches, headsets, reference books, logarithm table, Camera / Spy
Camera or any other electronic gadgets will not be allowed inside the Examination Hall. If caught red hand,
they will not be permitted to write the exam and such OMR sheet will not be evaluated and legal action as
deemed fit will be initiated against such Candidates. Instructions in this regard, already published in our
website may strictly be followed.
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Space available in the Question Booklet can be used for rough work. :
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Fcafrs FEYE) Stad TRT

On completion of the written test, tear off the OMR Answer Sheet along the perforation mark at the
top and hand over the original OMR Answer Sheet to the Invigilator and retain the duplicate copy
with candidates. Utmost care should be given while tearing the OMR Sheet.
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Candidates will be permitied to leave the Examination Hall only after completion of the examination.
qlEn & 1, SFEAR S 3 T R SR [ieaaT 3R FEia gaer 9 9aeE # dld & arigel
o 3ol & v uv vddes @ a6 @i ¥, e 3 UF SR o WA & faw faem wer
T STwen| waY 9y e Rl 39wear & wideTs @ dine fr SeAERr sl 9 gl

After the Examination, candidates should hand over OMR Answer Sheet and signed Admit Card to the
Invigilator,. OMR Sheet of candidates, who have not handed over the Admit card to the invigilator, will not be
considered for evaluation. Responsibility rests with the candidate fo hand over the admit card to the
invigilator without fail.

ey 3l dXRoT & RSl FY Y WA AT e, greifn 3FAEERT # giewr & foe Ry A o
weet few e gl

The questions in English version alone will be taken as authentic though questions are given in Hindi also for
the convenience of the candidates.
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deys ‘(e i) safferd vd gageiasd) / TECHNICIAN ‘B’ (MECHANIC
AUTO ELECTRICAL & ELECTRONICS)

"

0.1 mH & & W 5 kHz & Ald A ST §, UR0T WicTHIeT w97emeT foherawr §2

When a 0.1 mH inductor is connected to 5 kHz source, what is the approximate inductive

reactance.
(a) 81.4 Ohms (b) 3.14 Ohms
(¢ 0.318 Ohms (d) 3142 Ohms

A 3R B & € Fer aRar §6¥] C1=C2=C6=0.47 uF, C5=C7=C8=0.33 pF & C3=C4 = 1pF
& v §

Find the total capacitance across A and B. Given C1=C2=C6=0.471F, C5=C7=C8=0.33 nF and
C3=C4=1pF

: o, HER
©— = ¢ ® "
C, C,
C, . C,
(a) 2.02puF (b) 2.47nF
(c) 2.38uF (d) 2.47pF
121.5625 & gAY et @0 gfa-3murll gAwet §
Binary equivalent of decimal fraction of 121.5625 is
(2) 1111011.1001 (b)  1111001.1010
() 1111001.1001 (d) 1111011.1000

R-S fFeqerallT §=: & f3T NOR Jet &r wear §
Number of NOR gates required to construct R-S flip flop is

(@ 1 & 2

) 3 d 4

TF RC &ife Prgde @ 3YAT LT i
An RC oscillator uses feedback

(a) HUMcHS UL / Negative type

(b) HcHS 9 / Positive type

(¢ =5 o UBR, YACHS AT HONCHF / Any type, positive or negative

(&) 3'“1{313?[ HE ?ﬂ% #Agl / None of above
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10.

11.

45 9w freex ooy ag gar g, =
A band pass filter circuit is that which

(a) A% 3GRT T@aerer AT § / Pass low frequency signals

(by 3= 31'@% fesTer S5iar § / Pass high frequency signals
(¢) &l yrafa dansi & o f4eeter S5 § / Pass signals biw two frequency limits
(d) ar Imgiy BB & @ Fead 3PN HT § / Rejects signals biw two frequency

limits
f3fereer aeeddier (DVM) Hr ganfgar gl
Sensitivity of Digital Voltmeter (DVM) is
(a) 1V/digit (b) 1 mV/digit
() 0.1 V/digit (d) 1nV/digit

ag ik TSy aQvard et smed Reaer & wmrr wo e €

A device whose characteristics are very close to that of an ideal switch 1s

() WH @ HX/ SCR ' ®) SN SRS / Zener diode
() #Arese / MOSFET (d) HETRF / Capacitor

al sfordl 1 T-UR0T HA: 5mHnalomH%[zrfEm?r$rmo5% HiEAl & oo
WW%

Self inductance of two coils are 5 mH and 10 mH respectively. If the co-efficient of couphng is
0.5, then, mutual inductance between the coil is

(a) 6.5mH () 35mH
() 12.5mH (d 18mH

fordlt eRor-ier FenRe &1 e IoTR &

Power factor of a leaky capacitor is

(a) YA [ Zero (b) NS / Leading
(¢) &HS / Unity (@  offdier / Lagging
T & @ sl dilos Tead J9F &7

Which of the following logic is fastest?

(@) & & T/ TTL () & & T/ ECL
(¢) € wA 3 TH / CMOS (d U TH S/ LSI
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12.

13.

14.

15.

16.

17.

1kWh = ——————— Sled

1kWh = joules

(a) 3.6x105 ) (b) 3.6x108

(¢} 3600 @ 1

R g 9 1000kpF & w9 & 3 §| 98— & TA
Marking on ceramic capacitor is given as 1000kpF. It is same as

(@) 0.LuF (b) 0.01pF

(c) 1000 pF (d 1pF

P UR & 3re-arere o 30T agh g B

In a P type semiconductor, majority carriers are

(a) T&g / holes (b) FolFeld / electrons

(o) F!(I:QLI’H / neutrons (d) 3‘511_533 H ¥ IS A48T / none of above

AT T garfgar  0.02 VIV § 3R wedeex & 3iidits TR 25.Q g1 a1 g3k UrT
qanear &

Voltage sensitivity of multimeter is 0.02 V/V and the multimeter has internal resistance of
25 Q .Then its current sensitivity is

(a) 0.5 pA/V (b) 800 pA/NV
(©) 50pA/V (@ 800 uV/A

ey wearafds v aifer 1 1ot Y, AT FEH 10 9 § AR 60 THASS A AT §
Calculate the speed of an alternator which has 10 poles and frequency of 60 cycles/second?

(&) 720 rpm (b) 360rpm

() b5rpm (d) 20rpm

TF dr 7/20 aF & ¥ A [fAdse 3, @ 7. AR & &= B
A cable is specified as 7/20 copper. It consists of wires.
(a) 17/20 (b) 20

@ 3 (d 7
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18.

19.

20.

21.

22.

ol d% A IR J5-UiE Ael A1 cfHad e grar &

Terminal voltage of fully charged lead-acid cell is

»~

(@ L1V ® 12V
© 22V @ 25V
G5ell hr wicraren GaRT YTt T Sl &

Impedance of coil is given by

(@ Z,=X,+R ©)  Z,=+X,%+R

© Z 1

= — @  Zp=X"+R
L m s

MRLCWﬁ,H@HEMﬁ%W@TWW@mm

g

In series RLC circuit, net reactance at frequencies above the resonance frequency will be

(a) 9fae / Resistive : (®)  WOT / Inductive

(0 eRdrr / Capacitive (d) 3@3}?{ H G 15 A87 / None of above
weniE & gaeT gy Bl

Common defect in capacitor is /are

(2) &TIUT / Leaky (M) ot wfhe / Short circuit

(¢) 3i9sT Afke / Open-circuit (d) B'q?ﬁﬁ?l' FAT / All of the above

Rer & NO dud

NO (Normally Open) contacts of relay

(@ ¢ g o § 1§ o SSd 8lar § / gets closed when relay gets energized

®) g I g, o9 R sfAa glar & / get open when relay gets energized

(¢) ¥ 8 S § I9 R Hﬂﬁﬁ RG-S gets closed when relay gets de-energized

(d) T WA § ST ST 8T § / remain open when energized
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23.

24.

25.

26.

27.

Polarity of current carrying solenoid can be found by employing

(a)
(b)
©
Y

%T%—F% T / Cork —screw rule

YeATHeT % ZRf §TY 1 99T / Fleming’s right hand rule
34'51@ HI ATH / Thumb rule

ofat & f9a / Lenz's law

FolFd Helcd @7 SI A& &
ST unit of flux density is

(@) oFer / Tesla (b) éﬁ%lﬁ’fz / Wé,ﬁgr/mz
(¢) a«T / Weber - (d) WA/ A/m

R GaIs=T &

In star connection

(8 VL=V ‘ ® L=Ix

© I.=+3In d) Vi=Ve/A3

PMMC HEX & 99T

A F BT Fur o7 gwar B

PMMC meter can be used to measure

()
(b)
©
(d)

FHgel TeIeT gy / DC only

Fael TogEdl 9RT / AC only
TeU8T YR Yedm@dl 9T / DC and AC

HT HANT T URT T a1l WS T ¢aar Herelr ar woet ¥

fEsedrr $T Werrar @ Wodgst 9N U Wearadl 9RT / DC as well as AC with help of

rectifier

QuRE & fow desfiar € e 1

Soldering is done to improve

()
(b)
(c)
(d)

delst WALY [ Tensile strength

HTAAETAT / Receptivity
dddr / Ductility
Alehcll / Conductivity
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28.

29.

30.

3L

32.

g sl & ueds SMlE % ARG PIV gIeT gl
PIV across each diode of bridge rectifier is

(a) 2Vems " (b) Vims
() 2V {d Ve

DMM &T Y37 ¢ fedll SIS &1 AT s 999, U6 [ # 3= 9y vd Rodig ©&er &
foreeT wiRier &wr 9| Je SEdT Hawr gl

When measuring a diode using DMM, high resistance in one direction and Low resistance in
opposite direction was observed. Then its condition is

(&) 37T / Good

g

(b) 2NE Fipe / Short Circuit
(c) 3097 "fhe / Open Circuit
(d) W !/ Defective

Aol giest Fame aime &, Aol aRese oifesel #1 TER 87— BT 81
In series voltage regulator circuit, power dissipation of series pass transistor is

(@) Verlp ® Vmlc

{0 Veel. (d Vel

T Tifcoreet H, Tgs &y ——— Bl

In a transistor, collector region is

(8) 3cToiF &% ¥ @ieT / Smaller than emitter region

(b) IcTol® &F W 98T / Greater than emitter region
() ITHR &F § ©ieT / Smaller than base region

(d) () 3R () &= / Both (b) and (¢)

aifesree #r smseqe fadver & drer @il @l B
Output characteristic of transistor are drawn between

(a) Vee-Ic () Vee-lc

{c) Vez-Ig (d) Ver—Is

8 756-TN(MAEE)



33.

34.

35.

36.

37.

u%wm%maimwanszgamw%wwﬁmﬁmm%,ﬁgﬁ
e S B

If a portion of output is fed back to ini)ut of an amplifier at phase difference of 180°, then it is
called

(a) FHOTcA® Hsd® / Negative feedback

(b) &HATcH® FIESF / Positive feedback

(¢} FHONHS BIF AT / Negative feed forward
(d) €ATcA® hig BF}WUT. ! Positive feed forward

foelY 3-TROT WIURT yatiE #, gger TOT F 30 @ @l & qaft&awﬁlsﬁr-aﬁu%w
Y WoT & 58 afey §, o e afer gl

In a 3 stage cascade amplifier, first stage has a gain of 30, second stage has gain of 15 and
third stage has gain of 5, then overall gain is

(@& 5 () 60
() 2250 - (d 50
CB vaties #r geqe wfaamen gl &l
Input impedence of CB amplifier is
(8 &7/ Low (®) @ 5T / Very low
(¢) 3= [/ High (@ g 3 / Very high
LC srafery fr smafy EART YT Y el #
Frequency of LC oscillator is given by
1 1

(a) f—zarLC (b) f—2xm
© f=—=t @ f=ee

2z LC vLC

aﬁwmméaﬁﬁﬁmﬁ%mm%,maaﬁﬁm

If a saw tooth waveform is given to a differentiator, output wave form will be
(a) 3MIE=ar / Saw tooth (b) WEA4d / Sine wave
() T IF/ Square wave @ = 33T &l / No output
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38.

39.

40.

41.

N <& MOSFET & ey &g & dit W @5 & ¥ sl=-ar ogr &2
Which of the following is true as part of health check of N-channel MOSFET?

(2)

(b)

©

(D)

9 DMM & Sl W 3 & G aiar § 3k DMM &7 orer 99 @d @ gl gar

€, d DMM & uasT 04V & 0.9 V oF &l ifgT / When black probe of DMM is

connected to drain and red probe of DMM connected to source, the reading in DMM
should be 0.4 Vt0o 0.9V

S DMM T FHlell 919 AT & FAST 81 & 3 DMM &7 ol Wi 37 & qaifoa gar

g al DMM # 9ss 04V & 0.9V d% 8T TMET / When black probe of DMM is

connected to source, red probe of DMM connected to drain, reading in DMM should be
0.4Vt009V

5 DMM &7 F1 519 37 & GO @ & 3K DMM &7 e 99 o & S dar
&, O DMM & uae 39T IS @ =RT / When black probe of DMM is connected to

drain and red probe of DMM connected to source, the reading in DMM should be
overload

(a) AR (b) EFT / Both (a) and (b)

F YGHET I 3o Mg A T g1fder T 31 gaar &

Switching at high speed can be obtained using

(a)
(©

SCR (k)  Diode
PNP fa#ee / transistor d IGBT

Tafewa srarast & T O Bioee yorey & N faeq &1 g3ier ¢ i of g&ar &

No of discrete states that can be represented using N bits in digital system are

(a)
{c)

2N (b) 21
2N (d N2

e ooy & o3 uw drediey vd wfAfeameier VAR #Hiex # e 400 W 300 VAR gl
€1 TR9Y T 9T AUk e §7

A wattmeter and reactive VAR meter when connected to a circuit shows 400 W and 300 VAR
respectively. What is the power factor of the circuit?

()
(c)

1 by 06
0.8 (d 075

10 756-TN(MAEE)




42,

43.

44,

45.

foralr SeeT FaTeX & wRw @iE @ ufAT 300 Ohms ! Hed 4RI R & &, o9 &R
ffdsam & Ser sirar §2

A delta connector load has a resistance of 300 Ohms each. What is the equivalent resistance
when connected in star configuration?

(2) 300 Ohms (b) 100 Ohms
() 900 Ohms (d) 1560 Ohms

415V,50Hz£rwé$m12%@%%%%@9@%%&a’r
480 rpm T AT F GO FaT §?

What is the percentage slip of an induction motor having 12 poles fed with supply of 415 V,
50 Hz supply which rotates at a speed of 480 rpm?

(a) 5% b 4%
(@ =1 fFav F&F / No slip (d 2%

@

WW%WW#WWWWW@WW%

Which circuit controls the power switches in a switch mode power converter?

(8) TEWIFR / Transformer

(b) Tew fagyr AHFYeeT YR / Pulse width modulator cireuit S
() ErTHRT / Rectifier
(d) uraR RBaT / Power switches

A =T T Ry gutar ¥
The figure shown below shows
AAYA
Ry
R;
v, O-AAA— =
—OV,
v, O\ 1
R;
Rt =
(a) U yadie / Summing amplifier (b) SIHATT Tatia / Inverting amplifier
(c) T¥AT® Mifferentiator (d) 3rg%e ¥a8F / Differential amplifier
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46.

47.

48.

49.

50.

51.

M14 % 1.5 & Wiy e & v, 30 fFw smoR & B sedamer s597
For tapping with M14 x 1.5 tap, what size drill will you use?

(@ 13 @A/ 13 mm g () 115 BT/ 11.5 mm
() 12,5 & / 12.5 mm (@ 12 BT/ 12 mm

I D omm F = § AR N ofeEr o @ds 8, o A F s oy @ o
gl

If D is diameter in mm and N is revolutions per second, then formula for cutting speed in
m/min is

(a) i aIfT / Cutting Speed = 60.%.D.N /1000

(b) T 7Y / Cutting Speed = 1000/60.7.D.N
(¢) e 9t / Cutting Speed = n.D. /60000.N
() =fEer AT / Cutting Speed = 7.D.N/1000

TRl M@ & A 302005 mm & & & Farr 74T ¥ AeHEeR § gegar fhar 32

A dimension is stated as 30%% mm in a drawing. What is the tolerance in micro-meter?

(a) 10 ® 100

(0 50 (d 20

iy foadt M Brear v, O swe e EaRT A B Sar &
If ¥’ is the radius of a sphere, its volume is given by

(@) 4.7zr®/3 b 8.xri/4

(© 4xr*/3 (@) 3.xr®/4

R (9y-48)=(12-3y) & y=?
If (9y - 48)=(12-3y), then y = ?

(@ b b) 3

() 10 @ -3

I (x+y)=+386; (x-y)=v49 & ar (x? - ?) — &
If (x + y)=+/36 ; (x—)=+49 . Then (xz myz) is

(a) 48 (b) 13

(© 42 d) 56
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53.

54.

55.

56.

a " aqga
(@ df . ® d
© o @ o

WW%W@WWM%,mWW‘u’%,WW‘v’%
WG GHT Y B

Equation of motion under uniform acceleration(a) is
velocity is ‘v’ and time taken is ‘t’

, if initial velocity is ‘v, final

(@ a=@+u)lt ®  a=@-u)/t

g

() v=u+ak ' d v=u?+at

Wﬁwqﬁqﬁ,mﬁwa—m——“ﬁa@mm%t

In first angle projection top view is shown in
(2) Y¥HA TS / First quadrant

() &ad g4l / Second quadrant

(0 T gaIE / Third quadrant

(d) ﬁ?;?? A4l / Fourth quadrant

TReSET ved # 3R YEd e Ry & o W T gIhT gl B
Hatching line in sectional view ére generally inclined at ——— {0 the axis of the part.
(&) 45° (b) 30

© 60° @ 75

m@mﬁ%%ﬁmﬁ#%@rﬁm%mm%?

. Which of the following line is used to represent dimension line?

(a) 398 9l Y@ / Dashed Thin Line
(b) @er A& ¥@T / Chain Thick Line
(¢} & udel W1 / Continuous Thin Line

(d) ¥da A @/ Continuous Thick Line
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57.

58.

59.

60.

61.

1 9w afFa & SRR BT Bl
1 Watt power is equal to

(@) 10d/s .

(b)Y 107J/s

() 1d/s

(d) B'Q'{i'q'?f H ¥ ®IS 7ET/ None of the ahove

R TH FATEY T 3T & ST & fT R smar §
Taper plug gauge is used for checking of

(@ T Bt/ Tape‘r holes (h) 9T AwE / Taper shaft
(¢) EF YW A / Tool Taper shank (d) TEF!‘ &IoT / Iﬁ*ﬂl angles

=t & & Firar TRl wRER @ seETT 1

Which of the following is example of permanent fastener?

(a) 96T UF AT / Bolts and Nuts

() &b/ Screws
(¢) RIT / Rivets
(d) E'CRETF(-I H & #1% FE / None of the above

8.5 Tl &1 qUT weaeT sy & fANC snavad e &5 @ s F9T g

What will be the diameter of round bar required for making perfect hexagon of 8.5 mm across
flat?

(@ 9@/ 9mm ® 8T/ 8mm
() 85 AT/ 8.5 mm (d 10 AHAT / 10 mm

@ﬁaﬁﬁmmﬁmﬁamwﬁmﬁ#aﬁiﬁmm%‘?

Which of the following is example of conversion of potential energy to kinetic energy?

(8) UZEE N HR RART Ay v & dle B Seaes UMY @ B AR/ The motion of

pendulum from its position of rest to the extreme position of swing

by Fg q Prear g3 vz / A body or mass falling from height
(¢) TS § 3cUesT 55AT / Heat produced by rubbing
(d) 3‘3% H & BT 78 / None of the above
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62,

63.

64.

65.

A & selen W HEr et & fw, a5 gelisr sedwe frar S

To remove nail from wooden block, this hammer is used
(a) &rer 9t g2isT / Straight Peen H;mmer

(b) dfer faT g2AET / Ball peen Hammer

(¢) e g2isr / Claw Hammer

(d) wrg 9 g2lsT / Cross peen Hammer

Ard T 9T 3YSIOT T IR
Identify the tool indicated below:

(@ 975 &¢F / Dot Punch
(b) T=SEEF / Prick Punch
(c) &E BeH / Center punch
(d) &l 8e& / Hollow Punch

%ﬁmwmm&@aﬁﬁﬁvuﬂmm

The instrument used for drawing parallel lines at any angle
(a) T-¥Far@X / T Square (by VT TFARR / Set Square
(0 e / Scale (d)  FAIIE / Clinograph

foel avg &1 et o St v SRy R a8 g T FAT §?
Third angle orthographic projection of an object is given below. What is this object?

(2) %fiw‘l Cone () T3S/ Triangle
(c) Q'@ &I &% / Frustrum of cone (d) GFe ?‘[T:raﬁi\_ﬂ' / Trapezium
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66.

67.

68.

69.

70.

71.

afy Rrer agyper B SIS T HE@ W ¥ ages ¥ AR ol w7 AR @ ¥, A B A @

Hie-ar Geer Ty 272

If ‘w’ is the number sides of polygon and ‘@ is the sum of interior angles of polygon then which

of the following relation holds true

(@ a=(n-1)x90° (b)
© a=({n-2)x180° ()
fe & @ Fim-a e as9 a3 87

Which of the following fraction is highest?

(a) 9/12 (b)
(c) 8/9 (d)
et & ¥ Fl-ar ot @9t €2

Which of the following is perfect square?

(a) 965 | (b)
(c) 1000 (d)

& a:b=6:9and b:c=12:16 & dr a:c=?
Ifa:b=6:9andb:c=12; 16thena:c=7?

(@) 1:2 (b)
(© 2:3 (d)

a = {n - 2)x90°

a=(n-1)x180°

11/17
16/20

842
729
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Find the angles of triangle, if they are in the ratio of 3:5:12

30°, 42°, 108’
37, 45", 98°

O
I

(a) 27,55,98 (b)
(¢) 27,45, 108 (d)
T # q PIA-OT Thegaal H G 87
Which one of the following is the symbol of concentricity?
(a) © (b)
(¢ 1 (d)
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Which one of the following symbols represents highest surface roughness?

~

@ ® N\
© VI @ NNV

HIgT o Il e o TRl ¥ @ Riwa ge &y Rl ggret iy st

The ability of a material to deform permanently under compression without rupture

(a) YARYAr / Elasticity (b)  HSRT / Hardness
(¢) 3Imaraatddr / Malleability (d) Hesar / Toughness
el 3 & wies & 9w AR =

The cutting action of a file depends upon

(a) adl & & 3 37T / The kind of cut and spacing of teeth
(b) Y& WX Gial T SUaEAT / Arrangement of teeth on the file

(¢ ¥ & AR Ud ¥ / Size and shape of the file

(d) N?iﬁ' sl / All of the above

P 7 e w1 # G ST B
Ratchet stop in the micrometer helps to

(a) aIF I &7 / Control the pressure

(b) a§ &I AP @t / Lock the spindie

© I AR F ARSI F= / Adjust zero error

(d) & F 5HT / Hold the work piece

AR A ST (BIS) & 38R, e & dfier Aoy

The three classes of fits as per BIS system are

(@) Forlw fie, WA fbe ud =afdswor ¢ / Clearance fit, transition fit and

interference fit

(by AEIH e, gU e od ege e / Medium fit, push fit and tight fit
(© =ver fe, e e va 397 fe / Flat fit, round fit and square fit
(d) TemsfEe e, o fre wa gjopol T / Sliding fit, loose fit and shrinkage fit
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A cutting tool used to finish and enfarge a hole is known as

(a) wdie BT IY=HIOT / Spot facing tool
(b) 315 / Die

(© &7/ Tap

@ ¥ / Reamer

THISAT T IeRT g B
The included angle of a scriber is

(a) 15° (b)
(c) 45° d)

.

30°
118°

180 7 em® MTIT ¥ MY P AR 3TTaT F 5 ey 594 & e Nuarr S & Av s M

$r B=ar 1

The sphere of 180 7 cm?® volume is melted to make 5 numbers of spheres of equal volume. The

radius of the newly made sphere is

(a) 27cm (b
(c) 9cm (d)

6 cm

Jem
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Which of the following grade of emery paper is used for obtaining highest surface finish?

() 600 U3/ 600 grade

(b) 300 A5 / 300 grade
(¢) 2000 3F / 2000 grade

(@ 100 AT/ 100 grade
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